| abed
8£'£69'89% sajuapadxy sosaibu)
Z9'0L1'959% 29°0L1'959% 00'¥98'PZL'LS 00°0% 00'¥98'vZL'LS 1e30L
000 00'0$ 00'0$ 000% 000$ 00°0$ SOLNIINVIONYNI4 30 SOQVAINIA SOSTHONI
ojualweldueul4 ap sopeAlaq sosaibu
000 00'0% 0008 000$ 00°0$ 00$ I0IONIAGNS A SOIAISANS 'SINOIDVNDISY 'SYIONIHYIISNVHL
000 00°0$ 0008 0008 00'0$ DIDIAYIS 30 NOIOVLSIYd 'SANIIE 30 VANIA HOd SOSIHONI
000 000 000$ 0008 0008 \ _ \ S010Na0¥d
000 ) 0008 00'0$ 00'0$ 00'0$ IVID0S AvaiNo3s 3d SINOIDY.LYOdY A SYLOND
. - opejs3 |ap SeAnonpoud sesaidus;
se| ap owo? Ise ‘|edidiunuwieled o |ejejsaeled 10}99§ |2p
sowouginy souebiQ soj ap ‘jeloipne A oapesibe
$219p0d SO| ap $021|qnd saju3 so| ap sosalbt
8E'€69'89%" Z90L1'959% 29'021'9593% 00'¥98'¥CL 1S 00'0$ I0IDNIABNS A SOIAISANS ‘SINOIOVNDISY ‘SYIONIHIASNVEL
000 00'0$ 0008 0008 000$ SOALLNIONI 'SOINSANOD ‘S3NOIOVLHOdY ‘SINOIOVIOILEYd
000 0008 00'0$ 0008 0008 SOLNIINYHOIAOUIY
000 00'0% 00 0% 00'0% 00'0$ 0008 $010Naoyd
000 00°0%$ 000$ 00°0% 00'0$ 00'0% SOHO3¥3A
000 - 00'0$ 0008 00'0% 000$ 00'0$ SYHOr3w 30 SINOIONBIYLINOD
000 0008 0008 0008 0008 0008 IVID0S AVai¥ND3S 30 SINOIDVLHOY A SYLOND
000 00'0$ 00'0$ 0008 000$ 0008 S0O1S3andwi
soidiolunjy soj @
A |ejejs3 o |eiopad oAnnoalg Japod [ep sosalbi
(2
(1-6=9) (s) (%) (z+1=€) (seuojonpay) (1)
elauasajg opepneJay sopeBuanaq opeayipoN | sauojoeldwy opewps3y ojusjweldueul4
oseibu| ap ajuang Jod soseibuj ap odijeuy opejs3y
8'£69°80% sajuapaoxy sosalbul
Z9'021'989% 790219598 00'¥98'¢PZL LS 0008 00'p98'vZL LS Iejol
000 0008 0008 0008 000$ 00°0$ SOLNIINYIONYNIZ 30 SOAVAINIA SOSIHONI
8¢ £69'89%- Z9'0.1'9598 Z9'0L1'959% 00'v98'PZL'LS 0008 00'¥98'PZL LS INOION3AGNS A SOIAISENS ‘SINOIDVNDISY 'SYIONIHIISNVAL
000 00'0$ 00'0$ 00'0$ 00'0$ 000$ 1 SOALLNIONI ‘SOINTFANOD 'SINOIOV.LHOJY 'SINOIDVCIDILEVd
000 000 0008 00°0$ 00°0$ 00°0$ SOIDIAY3S 30 NQIOVLSIHd ‘SINTIE 30 VINIA ¥Od SOSIHONI
000 000$ 0008 000% 0008 00'0$ SOLN3INWYHOIAOHJY
000 0008 00'0$ 0008 0008 000$ $012naoyd
000 0008 00'0$ 000% 00'0$ 0008 SOHO3Y3A
000 00'0$ 000$ 00°08$ 00'0$ 00°0$ SYHOran 30 SINOIONSIYLNOD
000 00°0$ 0008 000$ 00°0$ 00°0% IWID0S avalunNo3s 3d SINOIDVY.LYOJY A SYLOND
000 000$ 000$ 0008 0008 0008 S01S3ndwi
(2)
(1-5=9) (s) (¥) (z+1=¢) (sauojonpax) (1)
ejouaie}iq opepnedsay sopeBuareq opesyipon | seuojoeydwy opewnsy ,
sosalbu) so| ap soiqny
osaibu)|
‘we ol | ugisaudw) ap esoy 6102 dD gusosaibujoisendnseidopels3ids dey
nl, 2uUd L=l Josiuadns s
s102/068/51 | A By0ed 6L0Z/INfjLE IV 610Z/2U9/1L0 |24
sosalbu] ap 021)ljeuy opejs3

oosIvr
INODVJINOVIL N3 ANLNIANC V1 3a TVdIDINNIN OLNLILSNI




